€€V090 ‘# DNIMVAA 740 1 395vd

S.14Vd 1dS XO8 NOILO3INNOD
-MHAIA dHAOTdXH

<
),

A
\Q
@D
\ \
4 LA
|-
AL
e ~ e
\
\\
\\\
\\
<
//
// )
/// - -
S L
HARN
b “
R
L

vV d00dH

PP A Y S,

N

L

~
AN
o ————-
W 4

<

90/1¢/6 -HLVA
€-3988-D -NOISIAHA




EXPLODED VIEW: CONNECTION BOX SPL PARTS

DRAWING #: 0G0433

APPLICABLE TO:
ITEM PART # QTY. DESCRIPTION
1 0F7135 1 BREAKER TRAY BACK/BOTTOM
2 0F7022 1 SUPPORT CONTROL PANEL SIDE RH
3 0F7021 1 SUPPORT CONTROL PANEL SIDE LH
4 0F7260 1 COVER CIRCUIT BREAKER 2P
0F7136 1 COVER CIRCUIT BREAKER 3P
5 0F6156 1 PLATE WIRE SNGL GALV
6 OF4464 1 DECAL CUST CONN 120V UTILITY
7 0D4698 REF BLOCK TERM 20A 6 X 3 X 1100V
8 0F3824 1 DECAL UTIL SENSE/CUST CONN
9 057701 REF BLOCK TERM 20A 8 X 6 X 1100V
10 0F6146 1 HANG TAG 2 WIRE START (NOT SHOWN)
12 081008 1 GROMMET 1.25 X .25 X .75
13 0C2267 2 SCREW HHTT M5-0.8 X 12 BP
14 049226 2 WASHER LOCK M5
15 051713 2 WASHER FLAT M5
16 0C2212 11 SCREW PHTT M4-0.7 X 16 ZYC
17 022264 11 WASHER LOCK #8-M4
18 OF6366A 1 XFMR DUAL 104V/16V (3 PHASE)
0F6366B 1 XFMR DUAL 120V/16V (1 PHASE)
19 022241 1 NUT HEX 3/8-16 STEEL
20 022237 1 WASHER LOCK 3/8
21 057329 1 LUG SLDLSS 350-#6 X 13/32 AL/CU
22 057073 1 JUNCTION BLOCK 3/8-16
23 023484 1 BUSHING SNAP SB-2000-26
24 0E3257 15 SCREW HWHTF M6-1.0 X 16
25 0E7890 REF BRKT CB MTG BACK 2P
0E6002 REF MTG TRACK BQ SIEMENS CB 3P
26 0A2077 REF CB 0125A 2P 240V S BQ2 LL (2 POLE)
040532 REF CB 0100A 3P 240V S BQ3 LL ( 3 POLE)
27 052619 REF SCREW HHC M5-0.8 X 20 G8.8 (NOT SHOWN)
28 023897 REF WASHER FLAT #10 ZINC (NOT SHOWN)
29 049226 REF WASHER LOCK M5 (NOT SHOWN)
30 051716 REF NUT HEX M5-0.8 G8 CLEAR ZINC (NOT SHOWN)
31 025433 1 LUG SLDLSS #6-14 X 13/64 CU
32 0A1354A 1 REGULATOR - DC ALT
33 OE3257 REF SCREW HWHTF M6-1.0 X 16
34 022473 REF WASHER FLAT 1/4-M6 ZINC
35 022097 REF WASHER LOCK M6-1/4
36 067210A 1 DECAL GROUND LUG
37 0F7194 2 BRACKET PANEL SUPPORT 1.5L C1
38 057593 1 CABLE TIE MOUNT BLACK
39 0F1733 1 DECAL CUSTOMER CONNECT INSIDE
40 023762 1 WASHER SHAKEPROOF EXT #10 STL
41 0G3560 1 DECAL DANGER HIGH VOLTAGE BI

REVISION: G-8868-B

DATE: 9/21/06

GROUP A

PAGE2OF 2



